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



를 만족시킨다. 




 ′ 일 때, 의 값은? [4점]
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 ②  

 ③ 

④  
 ⑤  



  
      

     
    



  

     











 






ABCD AB 

AD  ABD 
BCD 

 ∠BAD 



















인  
  





 ≤ 
 ≥ 

ㄱ ′  
ㄴ lim→      
ㄷ ′        

ㄱ ㄷ ㄱㄴ

ㄱㄷ ㄱㄴㄷ

log log  

             
′     



   



 






      A B

A  B         

AB  
   

lim→



 





  ≠
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(가) 는 실수 전체의 집합에서 미분가능하다. 
(나) lim→ lim→. 
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